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INSTRUCTION TO CANDIDATES :
1. SECTION-A is COMPULSORY consisting of TEN questions carryin marks

each.
2. SECTION-B contains FIVE questions carrying FIVE marks ea@nd students

has to attempt any FOUR questions.
3. SECTION-C contains THREE questions carrying TEN mar &h and students

has to attempt any TWO questions. 6

SECTION-A @
L Write briefly :

(@) Define a unit sample sequence. \ ’ !
(b) What do you mean by Nyquisé&

(c) Differentiate between ener power signals.

(d) Differentiate bet\'\% and unstable systems.
(€) What is the RO(G)Z

ffz-transform of a finite duration casual signal ?
(D Give the 'm@ersal property of the z-transform.
(g0 Wha ${1‘
(b)

ifference between linear convolution and circular convolution?

1S Gibbs phenomenon?
at is Frequency Warping ?

(G) What are limit Cycle Oscillations ?

SECTION-B

2. Determine the range of values of the parameter ‘a’ for which the linear time-
invariant system with impulse response h(n) = an u(n) is stable.
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- How is DFT used in linear filtering? Explain,
4. Determine the z-transform and the ROC of the signa!
x(n) = [3(2M-4(3M]u(n)
5. Explain the Impulse Invariance method of IIR filter design.

6. What are limit cycle oscillations? Why do they arise? Exelain.

SECTION-C
7. Explain the architecture of TMS processors.
8. Obtain the direct form L, direct form II, cascade and paraile! sti or the
system : G

y(n) = 0.5y(n-1) + 0.25 y(n-2) + x(n) + x(n-1). Is the systcn@ble?
L 2

9. Compute the 8-point DFT of the sequence using decimat*g me FI'T algorithm:
I, On<7
w %
0, otherwise &
D
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